Top Notch Supply

Item No. Est Ory Unit Measure Description MFG . / MODEL # Unit Price Total Price 1 100 Case Aerosol Baseboard Stripper - 20 cz (12 per case) Chase/6156 \$ 49.70 44.970 00 2 125 Earch Angle Brooms Janico/4050 \$ 7.25 \$906.25 3 40 Earch Barrels - 44 gal (without dolly) Impact/44G 9700 \$ 69.90 \$2.796.00 4 40 Earch Basket, Wastepaper, Plastic 40 Qt Impact/4703 \$ 10.61 \$537.46 \$1,498.40 5 50 Earch Basket, Wastepaper, Plastic 40 Qt Impact/4703 \$ 10.61 \$539.50 6 50 Earch Basket, Wastepaper, Plastic 26 Qt Impact/7702 \$ 7.29 \$395.00 7 25 Earch Basket, Wastepaper, Plastic 26 Qt Impact/7702 \$ 7.29 \$395.00 8 30 Case Capet extractor solution (shampoo) (4-1 gallon Creatwel/C-32 \$ 29.80 \$894.00 9 40 Earch Capet extractor					110		
100 Case Aerosol Baseboard Stripper - 20 oz (12 per case) Chase/6156 \$ 49.70	Item No.	Est Qty	Unit Measure	<u>Description</u>	•	Unit Price	Total Price
125 Each Angle Brooms Janico/4050 \$ 7.25 40 Each Barrels -44 gal (without dolly) Impact/44G 9700 \$ 37.46 40 Each Barrels with Dollies - 44 gallon Impact/47G 9700 \$ 69.90 50 Each Basket, Wastepaper, Plastic 40 Qt Impact/7702 \$ 7.90 50 Each Basket, Wastepaper, Plastic 28 Qt Impact/7702 \$ 7.90 25 Each Broom, interior/corn Janico/4047 \$ 7.29 30 Case Carpet extractor solution (shampoo) (4-1 gallon Creative/C-32 \$ 29.80 40 Each Capet extractor solution (shampoo) (4-1 gallon Creative/C-32 \$ 29.80 50 Each Capet extractor solution (shampoo) (4-1 gallon Creative/C-32 \$ 29.80 60 Each Capet extractor solution (shampoo) (4-1 gallon Creative/C-32 \$ 3.91 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 60 Each Dodlebug pad holder/head Tolco/280137 \$ 5.50 50	_	100	Case	Aerosol Baseboard Stripper - 20 oz (12 per case)	Chase/5156		\$4;970.00
40 Each Barrels - 44 gal (without dolly) Impact/44G \$ 37.46 40 Each Barrels with Dollies - 44 gallon Impact/44G 9700 \$ 69.90 50 Each Basket, Wastepaper, Plastic 40 Qt Impact/7703 \$ 10.61 50 Each Basket, Wastepaper, Plastic 28 Qt Impact/7702 \$ 7.90 25 Each Basket, Wastepaper, Plastic 28 Qt Impact/7702 \$ 7.90 25 Each Case Case Limpact/7702 \$ 7.90 40 Each Case Case Case ACS/M8001 \$ 6.55 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1 Focus/2101 \$ 37.50 50 Each Doodlebug pad holder/head Tolco/280137 \$ 3.50 30 Case Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 50 Each Dust pan O'Dell/DP200 \$ 3.21 50 Each Dust pan <td>2</td> <td>125</td> <td>Each</td> <td>Angle Brooms</td> <td>Janico/4050</td> <td></td> <td>\$906.25</td>	2	125	Each	Angle Brooms	Janico/4050		\$906.25
40 Each Barrels with Dollies - 44 gallon Impact/44G 9700 \$ 69.90 50 Each Basket, Wastepaper, Plastic 40 Qt Impact/7703 \$ 10.91 50 Each Basket, Wastepaper, Plastic 28 Qt Impact/7702 \$ 7.90 25 Each Broom, interior/corn Janico/4047 \$ 7.29 30 Case Carpet extractor solution (shampoo) (4-1 gallon Creative/C-32 \$ 29.80 40 Each Caution wet floor sign, yellow, folding ACS/M8001 \$ 29.80 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1 Focus/2101 \$ 37.50 60 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 25 Each Doodlebug pad sol (20 pads per case) ACS/672 \$ 16.80 25 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 25 Each Doodlebug pad holder/head Tolco/28073 \$ 3.31 50 Each Doodlebug pad	ω	40	Each	Barrels - 44 gal (without dolly)	Impact/44G	:	\$1,498.40
50 Each Basket, Wastepaper, Plastic 40 Qt Impact/7703 \$ 10.61 50 Each Basket, Wastepaper, Plastic 28 Qt Impact/7702 \$ 7.90 25 Each Broom, interior/corn Janico/4047 \$ 7.29 30 Case Carpet extractor solution (shampoo) (4-1 gallon /case) Creative/C-32 \$ 29.80 40 Each Caution wet floor sign, yellow, folding ACS/M8001 \$ 6.55 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1 pallon per box) Focus/2101 \$ 37.50 50 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 25 Each Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 50 Each Dust pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	4	40	Each	Barrels with Dollies - 44 gallon	Impact/44G 9700		\$2,796.00
50 Each Basket, Wastepaper, Plastic 28 Qt Impact/7702 \$ 7.90 25 Each Broom, interior/corn Janico/4047 \$ 7.29 30 Case Carpet extractor solution (shampoo) (4-1 gallon / loase) Creative/C-32 \$ 29.80 40 Each Caution wet floor sign, yellow, folding ACS/M8001 \$ 6.55 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1 gallon per box) Focus/2101 \$ 3.91 60 Each Doodlebug pad holder/head Tolco/280137 \$ 3.50 25 Each Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 50 Each Dust pan brush ACS/87738 \$ 3.21 50 Each Dust Pan (Lobby dust pan) Upright ACS/8452 \$ 7.96	U 1	50	Each	Basket, Wastepaper, Plastic 40 Qt	Impact/7703		\$530.50
25 Each Broom, interior/corn Janico/4047 \$ 7.29 30 Case Carpet extractor solution (shampoo) (4-1 gallon / (case)) Creative/C-32 \$ 29.80 40 Each Caution wet floor sign, yellow, folding ACS/M8001 \$ 6.55 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 60 Each Degreaser cleaner - Green Seal certified (4-1 gallon per box) Focus/2101 \$ 3.91 30 Case Doodlebug pad holder/head Tolco/280137 \$ 5.50 25 Each Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 50 Each Dust pan brush O'Dell/DP200 \$ 3.21 50 Each Dust pan brush ACS/B452 \$ 7.96	6	50	Each	Basket, Wastepaper, Plastic 28 Qt	Impact/7702		\$395.00
30 Case Carpet extractor solution (shampoo) (4- 1 gallon /case) Creative/C-32 \$ 29.80 40 Each Caution wet floor sign, yellow, folding ACS/M8001 \$ 6.55 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1 gallon per box) Focus/2101 \$ 37.50 50 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 25 Each Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 50 Each Dust pan brush O'Dell/DP200 \$ 3.21 50 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	7	25	Each	Broom, interior/corn	Janico/4047		\$182.25
40 Each Caution wet floor sign, yellow, folding ACS/M8001 \$ 6.55 50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1) Focus/2101 \$ 37.50 60 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 30 Case Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 25 Each Dust pan brush O'Dell/DP200 \$ 3.21 50 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	8	30	Case	Carpet extractor solution (shampoo) (4- 1 gallon /case)	Creative/C-32		\$894.00
50 Each Chewing gum remover, spray 6oz Chase/438-5165 \$ 3.91 40 Case Degreaser cleaner - Green Seal certified (4-1 gallon per box) Focus/2101 \$ 37.50 60 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 30 Case Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 25 Each Dust pan brush O'Dell/DP200 \$ 3.21 50 Each Dust pan brush ACS/B7738 \$ 3.45 100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	9	40	Each	Caution wet floor sign, yellow, folding	ACS/M8001		\$262.00
40 Case Degreaser cleaner - Green Seal certified (4-1 gallon per box) Focus/2101 \$ 37.50 60 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 30 Case Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 25 Each Dust pan brush O'Dell/DP200 \$ 3.21 50 Each Dust pan brush ACS/B7738 \$ 3.45 100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	10	50	Each	Chewing gum remover, spray 6oz	Chase/438-5165		\$195.50
60 Each Doodlebug pad holder/head Tolco/280137 \$ 5.50 30 Case Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 25 Each Dust pan O'Dell/DP200 \$ 3.21 50 Each Dust pan brush ACS/B7738 \$ 3.45 100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	<u></u>	40	Case	Degreaser cleaner - Green Seal certified (4-1 gallon per box)	Focus/2101		\$1,500.00
30 Case Doodlebug pads (20 pads per case) ACS/672 \$ 16.80 25 Each Dust pan O'Dell/DP200 \$ 3.21 50 Each Dust pan brush ACS/B7738 \$ 3.45 100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	12	60	Each	Doodlebug pad holder/head	Tolco/280137		\$330.00
25 Each Dust pan O'Dell/DP200 \$ 3.21 50 Each Dust pan brush ACS/B7738 \$ 3.45 100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	13	30	Case	Doodlebug pads (20 pads per case)	ACS/672		\$504.00
50 Each Dust pan brush ACS/B7738 \$ 3.45 100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	14	25	Each	Dust pan	O'Dell/DP200		\$80.25
100 Each Dust Pan (Lobby dust pan) Upright ACS/B452 \$ 7.96	15	50	Each	Dust pan brush	ACS/B7738		\$172.50
	1 6	100	Each	Dust Pan (Lobby dust pan) Upright	ACS/B452		\$796.00

Top Notch Supply, Inc. PO Box 2261 Woburn, MA 01888-0461

Item No.	Est Qty	Unit Measure	Description	MFG./MODEL#	Unit Price	Total Price
17	200	5-gal pail	Floor finish - Green Seal certified (WAX) 5-gallon	ACS, Focus/2622	\$ 89.75	\$44,875.00
18	20	Heads/each	Floor finish mop heads (12 per case)	Janstar/LPMDMOP	\$ 1.98	\$99.00
19	09	Each	Floor Squeegees - 22" wide	O'Dell/SQF-24PW	\$ 10.85	\$651.00
70	350	5-gal pail	Floor stripper - Green Seal certified 5-gallon	ACS, Focus/4566	\$ 58.20	\$20,370.00
21	200	Case	Foam hand soap (4-1 gallon per case)	Diamond/18671	\$ 24.00	\$4,800.00
22	20	Each	Funnel, Large (pint)	Choice/407370	\$ 1.22	\$24.40
23	40	Each	Garage broom handles 60"fiberglass	O'Dell/HFBK	\$ 8.51	\$340.40
24	25	Each	Garage broom heads - 18" heavy sweep broom	Janico/4218	\$ 8.84	\$221.00
25	140	Each	Glass Scraper - retractable metal	Ettore/4287	\$ 2.60	\$364.00
56	35	Вох	Glass scraper refill blades - 100 per box	Norshel/13711019	\$ 5.10	\$178.50
27	150	Case	Gloves, Nitrile - black or blue X-LARGE	Honeywell/GNEPXL	\$ 35.00	\$5,250.00
28	100	Case	Gloves, Nitrile - black or blue LARGE	Honeywell/GNEPLG	\$ 35.00	\$3,500.00
29	30	Case	Gloves, Nitrile- black or blue MEDIUM	Safeguard/GNEPMD	\$ 35.00	\$1,050.00
30	100	Case	Heavy-duty scouring pads 6" x 9" (green) (15 per cs)	ACS/586	\$ 5.00	\$500.00
31	20	Each	Lambs wool aplicator , 16" REFILL	Norshel/01701016	\$ 8.96	\$179.20
32	10	Each	Lambs wool applicator, 16" W/ BLOCK	Norshel/00701316	\$ 15.00	\$150.00
						i

Top Notch Supply, Inc. PO Box 2261

Item No.	Est Qty	Unit Measure	<u>Description</u>	MFG. / MODEL #	Unit Price	Total Price
33	40	Box	Long handled crater refill blades (60 per box)	Janstar/RB10C	\$ 4.25	\$170.00
34	60	Each	Long handled scraper - 12" (floor/window)	Janico/4851	\$ 9.26	\$555.60
35	75	Each	48' Long handle razor scraper	Janico/4848	\$ 18.00	\$1,350.00
36	50	Each	Microfiber extendable duster	O'Dell/MFD-C	\$ 10.20	\$510.00
37	70	Each	Mop buckets w/wringer 35 quart with side press wringer	ACS/M8000	\$ 69.80	\$4,886.00
38	25	Case	Pads, scrubbing 13" Red (5 pads per case)	ACS/5113	\$ 7.21	\$180.25
39	15	Case	Pads, stripping 13" Black (5 pads per case)	ACS/7213	\$ 7.21	\$108.15
40	4	Case	Pads, polishing 13" White (5 pads per case)	ACS/4113	\$ 7.21	\$28.84
41	Ŋ	Case	Pads, scrubbing 17" Red (5 pads per case)	ACS/5117	\$ 10.35	\$51.75
42	15	Case	Pads, stripping 17" Black (5 pads per case)	ACS/7217	\$ 10.35	\$155.25
43	ω	Case	Pads, polishing 17" White (5 pads per case)	ACS/4117	\$ 10.35	\$31.05
44	30	Case	Pads, scrubbing 19" Red (5 pads per case)	ACS/5119	\$ 12.50	\$375.00
45	100	Case	Pads, stripping 19" Black (5 pads per case)	ACS/7219	\$ 12.50	\$1,250.00
46	30	Case	Pads, polishing 19" White (5 pads per case)	ACS/4119	\$ 12.50	\$375.00
47	10	Case	Pads, cleaning 19" Blue (5 pads per case)	ACS/5319	\$ 12.50	\$125.00
48	30	Case	Pads, scrubbing 20" Red (5 pads per case)	ACS/5120	\$ 13.20	\$396.00

Top Notch Supply, Inc. PO Box 2261 Woburn, MA 01688-0461

Bidder Name:

tem No.	Est Oty	Unit Measure	Description	MFG. / MODEL#	<u>Unit Price</u>	Total Price
49	20	Case	Pads, polishing 20" White (5 pads per case)	ACS/4120	\$ 13.20	\$264.00
50	110	Case	Pads, stripping 20" Black (5 pads per case)	ACS/7220	\$ 12.90	\$1,419.00
51	15	Case	Pads, cleaning 20" Blue (5 pads per case)	ACS/5320	\$ 13.20	\$198.00
52	10	Case	Pads, stripping 21" Black (5 pads per case)	ACS/7221	\$ 14.39	\$143.90
53	20	Case	PH-Enomenal Floor Conditioner/ Neutralizer (4 gal per case)	Creative/C-16T	\$ 33.88	\$1,694.00
54	20	Each	Plunger, sink, small	Janico/1066	\$ 3.45	\$172.50
55	09	Each	Polish, furniture 20oz LEMON (12 per case)	Chase/5136	\$ 4.60	\$276.00
56	09	Each	Polish, metal 20oz	Chase/5153	\$ 4.10	\$246.00
57	15	5-gal pail	Polyurethane (Waterbase) 5-gallon	ACS/9329	\$ 198.90	\$2,983.50
58	75	Each	Putty knife 2 inch	Norshel/3450150	\$ 3.98	\$298.50
59	20	Each	Putty knife 3 inch	Norshel/3450300	\$ 5.94	\$297.00
09	25	Case	Saitary napkin wall-mounted receptacle waxed paper liner bags (250 per case)	Hospeco/HS-6141	\$ 17.92	\$448.00
61	10	Each	Sanitary napkin wall-mounted receptacle - plastic	Janico/1030	\$ 19.50	\$195.00
62	10	Each	Sanitizer, Hand,touch free dispenser, electronic (700-mil gel soap)	Gojo/1328-04	\$ 5.00	\$50.00
63	25	Case	Sanitizer, Refill, Hand, Gel (700mil) (3 per case)	Gojo/1303-03	\$ 39.90	\$997.50
64	25	Each	Sanitizer, Hand, touch free dispenser, (1200 mil foam soap)	Gojo/8828-06	\$ 5.00	\$125.00

Top Notch Supply, Inc. PO Box 2261

100		The second secon				
\$129,944.49	Grand Total	Award to be made in the aggregate. Bidder must bid all items.				
\$1,080.00	\$ 7.20	Handi-Klenz/72400271	Urinal screens - scented (12 per case)	Вох	150	76
\$1,255.00	\$ 25.10	Ettore/49036	Trash Grabber 36" Length	Each	50	75
\$199.50	\$ 3.99	Janico/1065	Toilet plunger, 18" plastic handle, 5.63 dia (Red/Black)	Each	50	74
\$537.00	\$ 1.79	Janico/4000	Toilet brush, round bowl brush	Each	300	73
\$432.00	\$ 10.80	Ettore/17012	Squeegee, Window, 12"	Each	40	72
\$118.80	\$ 3.96	Ettore/1412	Squeegee, blade 12"	Each	30	71
\$365.00	\$ 1.46	Tolco/32BOT/TRIG	Spray bottle 32oz w/trigger	Each	250	70
\$1,660.00	\$ 16.60	Impact/SP9757	Soap, foam dispenser 30oz	Each	100	69
\$550.00	\$ 55.00	Dynasol/Dynaseal5	Sealer, Terrazo 5-gallon (hardwood flooring)	5-gal pail	10	68
\$2,859.50	\$ 81.70	Gojo/8805-03	Sanitizer, Refill, Hand, Foam (ADX12) (3 per case)HOLD	Case	35	67
\$125.00	\$ 5.00	Gojo/8828-06	Sanitizer, Hand, ADX12 Dispenser, (1200 mil foam)HOLD	Each	25	66
\$1,841.75	\$ 73.67	Gojo/1905-02	Sanitizer, Refill, Hand, Foam (1200 mil) (2 per case)	Case	25	<u></u> თ
Total Price	Unit Price	MFG . / MODEL #	Description	Unit Measure	Est Qty	Item No.
				2,535.5		

Top Notch Supply, Inc. PO Box 2261 Woburn, MA 01888-0461

Conlon Products

Item No.	Est Qty	Unit Measure	Description	MFG. / MODEL#	Unit Price	Total Price
1	100	Case	Aerosol Baseboard Stripper - 20 oz (12 per case)	Spraypak/433-4112	\$ 34.89	\$3,489.00
2	125	Each	Angle Brooms	Boardwalk/BWKBRMAXIL	\$ 5.38	\$672.50
3	40	Each	Barrels - 44 gal (without dolly)	Boardwalk/BWK44GLWRGR/	\$ 34.70	\$1,388.00
4	40	Each	Barrels with Dollies - 44 gallon	Boardwalk/44GAL+DOLLY	\$ 61.99	\$2,479.60
5	50	Each	Basket, Wastepaper, Plastic 40 Qt	Boardwalk/BWK41QTWBBL4	\$ 10.59	\$529.50
6	50	Each	Basket, Wastepaper, Plastic 28 Qt	Boardwalk/BWK28QTWBBL/	\$ 5.60	\$280.00
7	25	Each	Broom, interior/corn	Boardwalk/BWK926CEA	\$ 10.50	\$262.50
8	30	Case	Carpet extractor solution (shampoo) (4- 1 gallon /case)	Simoniz/P2669004	\$ 22.20	\$666.00
9	40	Each	Caution wet floor sign, yellow, folding	Impact/9152W	\$ 11.38	\$455.20
10	50	Each	Chewing gum remover, spray 6oz	Spraypak/433-4107	\$ 2.66	\$133.00
11	40	Case	Degreaser cleaner - Green Seal certified (4-1 gallon per box)	Simoniz/G1165004	\$ 37.50	\$1,500.00
12	60	Each	Doodlebug pad holder/head	Boardwalk/BWK00405	\$ 6.50	\$390.00
13	30	Case	Doodlebug pads (20 pads per case)	Boardwalk/BWK403(Brown)	\$ 20.40	\$612.00
14	25	Each	Dust pan	Impact/IMP700EA	\$ 4.06	\$101.50
15	50	Each	Dust pan brush	Boardwalk/BWK5308	\$ 3.98	\$199.00
16	100	Each	Dust Pan (Lobby dust pan) Upright	Abco/DP-00204EA	\$ 11.00	\$1,100.00
17	500	5-gal pail	Floor finish - Green Seal certified (WAX) 5-gallon	Charlotte Products/ES98N-18	\$ 68.00	\$34,000.00
18	50	Heads/each	Floor finish mop heads (12 per case)	Triple-S/37050	\$ 5.69	\$284.50
19	60	Each	Floor Squeegees - 22" wide	Ettore/1636	\$ 9.22	\$553.20
20	350	5-gal pail	Floor stripper - Green Seal certified 5-gallon	Charlotte Products/ES85N-18	\$ 66.00	\$23,100.00
21	200	Case	Foam hand soap (4-1 gallon per case)	Simoniz/G1393004	\$ 37.90	\$7,580.00
22	20	Each	Funnel, Large (pint)	Winco/FUN-PT	\$ 8.98	\$179.60
23	40	Each	Garage broom handles 60"fiberglass	Boardwalk/BWK636	\$ 9.70	\$388.00
24	25	Each	Garage broom heads - 18" heavy sweep broom	Boardwalk/20118	\$ 9.68	\$242.00
25	140	Each	Glass Scraper - retractable metal	Unger/SR50	\$ 3.55	\$497.00
26	35	Вох	Glass scraper refill blades - 100 per box	Callico/GVY-02150	\$ 6.88	\$240.80
27	150	Case	Gloves, Nitrile - black or blue X-LARGE	Pitt Plastics/NF204	\$ 29.00	\$4,350.00
28	100	Case	Gloves, Nitrile - black or blue LARGE	Pitt Plastics/NF203	\$ 29.00	\$2,900.00
29	30	Case	Gloves, Nitrile- black or blue MEDIUM	Pitt Plastics/NF202	\$ 29.00	\$870.00

Bidder Name: Conlon Products Inc

CONLON PRODUCTS, INC. 70 SHEPARD STREET LAWRENCE, MA 01843

PH: (978) 682-8482 FAX: (978) 975-1106

Item No.	Est Qty	Unit Measure	Description	MFG. / MODEL#	<u>Unit Price</u>	Total Price
30	100	Case	Heavy-duty scouring pads 6" x 9" (green) (15 per cs)	Boardwalk/BWK186	\$ 6.10	\$610.00
31	20	Each	Lambs wool aplicator , 16" REFILL	Boardwalk/BWK4516	\$ 15.00	\$300.00
32	10	Each	Lambs wool applicator, 16" W/ BLOCK	Boardwalk/BWK4416	\$ 20.00	\$200.00
33	40	Box	Long handled crater refill blades (60 per box)	Unger/RB10Cx6	\$ 61.00	\$2,440.00
34	60	Each	Long handled scraper - 12" (floor/window)	UngerSH25C	\$ 24.66	\$1,479.60
35	75	Each	48' Long handle razor scraper	Unger/LH12C	\$ 29.76	\$2,232.00
36	50	Each	Microfiber extendable duster	GOODood Grips/1334580	\$ 17.00	\$850.00
37	70	Each	Mop buckets w/wringer 35 quart with side press wringer	oardwalk/BWK2635COMBYE	\$ 51.60	\$3,612.00
38	25	Case	Pads, scrubbing 13" Red (5 pads per case)	VictoriaBay/VB13RBFP	\$ 8.45	\$211.25
39	15	Case	Pads, stripping 13" Black (5 pads per case)	VictoriaBay/VB13RBFP	\$ 8.45	\$126.75
40	4	Case	Pads, polishing 13" White (5 pads per case)	VictoriaBay/VB13WSPP	\$ 8.45	\$33.80
41	5	Case	Pads, scrubbing 17" Red (5 pads per case)	VictoriaBay/VB17RBFP	\$ 11.93	\$59.65
42	15	Case	Pads, stripping 17" Black (5 pads per case)	VictoriaBay/VB17BSTP	\$ 11.93	\$178.95
43	3	Case	Pads, polishing 17" White (5 pads per case)	VictoriaBay/VB17WSPP	\$ 11.93	\$35.79
44	30	Case	Pads, scrubbing 19" Red (5 pads per case)	VictoriaBay/VB19RBFP	\$ 14.34	\$430.20
45	100	Case	Pads, stripping 19" Black (5 pads per case)	VictoriaBay/VB19BSTP	\$ 14.34	\$1,434.00
46	30	Case	Pads, polishing 19" White (5 pads per case)	VictoriaBay/VB19WSPP	\$ 14.34	\$430.20
47	10	Case	Pads, cleaning 19° Blue (5 pads per case)	VictoriaBay/VB19BCP	\$ 14.34	\$143.40
48	30	Case	Pads, scrubbing 20" Red (5 pads per case)	VictoriaBay/VB20RBFP	\$ 14.07	\$422.10
49	20	Case	Pads, polishing 20° White (5 pads per case)	VicoriaBay/VB20WSPP	\$ 14.07	\$281.40
50	110	Case	Pads, stripping 20" Black (5 pads per case)	VictoriaBay/VB20BSTP	\$ 14.07	\$1,547.70
51	15	Case	Pads, cleaning 20° Blue (5 pads per case)	VictoriaBay/VB20BCP	\$ 14.07	\$211.05
52	10	Case	Pads, stripping 21" Black (5 pads per case)	Boardwalk/BWK4021BLA	\$ 22.56	\$225.60
53	50	Case	PH-Enomenal Floor Conditioner/ Neutralizer (4 gal per case)	Simoniz/W4225004	\$ 41.50	\$2,075.00
54	50	Each	Plunger, sink, small	Boardwalk/9201	\$ 3.70	\$185.00
55	60	Each	Polish, furniture 20oz LEMON (12 per case)	Spraypak/433-4109	\$ 2.86	\$171.60
56	60	Each	Polish, metal 20oz	Spraypak/433-4111	\$ 2.70	\$162.00
57	15	5-gal pail	Polyurethane (Waterbase) 5-gallon	Bona-SSS/32001	\$ 333.80	\$5,007.00
58	75	Each	Putty knife 2 inch	Anvil/DS20-ANV	\$ 2.68	\$201.00

Bidder Name: Conton Products, Inc.

CONLON PRODUCTS, INC. 70 SHEPARD STREET LAWRENCE, MA 01843

PH: (978) 682-8482 FAX: (978) 975-1106

Item No.	Est Qty	Unit Measure	Description	MFG . / MODEL #	Unit Price	Total Price
59	50	Each	Putty knife 3 inch	Impact/3401	\$ 9.60	\$480.00
60	25	Case	Saltary napkin wall-mounted receptacle waxed paper liner bags (250 per case)	Hospeco/HS6141	\$ 19.61	\$490.25
61	10	Each	Sanitary napkin wall-mounted receptacle - plastic	Hospeco/CDW	\$ 44.44	\$444.40
62	10	Each	Sanitizer, Hand,touch free dispenser, electronic (700-mil gel soap)	Purel/1320-04	\$ 36.00	\$360.00
63	25	Case	Sanitizer, Refill, Hand, Gel (700mil) (3 per case)	Purel/1305-03	\$ 90.00	\$2,250.00
64	25	Each	Sanitizer, Hand, touch free dispenser, (1200 mil foam soap)	Purel/6520-01	\$ 0.01	\$0.25
65	25	Case	Sanitizer, Refill, Hand, Foam (1200 mil) (2 per case)	Purel/6551-02	\$ 81.72	\$2,043.00
66	25	Each	Sanitizer, Hand, ADX12 Dispenser, (1200 mil foam)HOLD	Purel/8820-06	\$ 20.00	\$500.00
67	35	Case	Sanitizer, Refill, Hand, Foam (ADX12) (3 per case)HOLD	Purel/8804-03	\$ 94.05	\$3,291.75
68	10	5-gal pail	Sealer, Terrazo 5-gallon (hardwood flooring)	Simoniz/CS0700005	\$ 48.80	\$488.00
69	100	Each	Soap, foam dispenser 30oz	Impact/9336	\$ 20.00	\$2,000.00
70	250	Each	Spray bottle 32oz w/trigger	Boardwalk/32Combobtl+trg	\$ 1.80	\$450.00
71	30	Each	Squeegee, blade 12*	Unger/Ne300	\$ 8.72	\$261.60
72	40	Each	Squeegee, Window, 12*	Unger/PR300	\$ 18.20	\$728.00
73	300	Each	Toilet brush, round bowl brush	Rubbermaid/6310	\$ 1.81	\$543.00
74	50	Each	Toilet plunger, 18" plastic handle, 5.63 dia (Red/Black)	Boardwalk/9201	\$ 3.70	\$185.00
75	50	Each	Trash Grabber 36" Length	Unger/NN90	\$ 37.80	\$1,890.00
76	150	Вох	Urinal screens - scented (12 per case)	Boardwalk/BWK1001	\$ 13.00	\$1,950.00
				Award to be made in the aggregate. Bidder must bid all items.	Grand Total	\$133,095,19

CONLON PRODUCTS, INC. 70 SHEPARD STREET LAWRENCE, MA 01843 PH: (978) 682-8482 FAX: (978) 975-1108

Bidder Name: Conton Products Inc

5
5
_
-
5
Š.
3

1						li li		
	1	100	Case	Aerosol Baseboard Stripper - 20 oz (12 per case)	BCC0992300	\$ 57.40	\$ 5,740.00	BETCO
	12	125	Each	Angle Brooms	BWKBRMAXIL	\$ 4.83	\$ 603.75	BOARDWALK
	ω	40	Each	Barrels - 44 gal (without dolly)	COCP4444GY	\$ 35.04	\$ 1,401.60	CONTINENTAL
	4	40	Each	Barrels with Dollies - 44 gallon	COCP4444GY + COCP3255BK	\$ 63.79	\$ 2,551.60	CONTINENTAL COCP4444GY sold at \$35.04 COCP3255BK sold at \$28.75
	5	50	Each	Basket, Wastepaper, Plastic 40 Qt	COCP4114BK	\$ 9.88	\$ 494.00	CONTINENTAL
	6	50	Each	Basket, Wastepaper, Plastic 28 Qt	COCP2818BK	\$ 5.21	\$ 260.50	CONTINENTAL
	7	25	Each	Broom, interior/corn	BWKBR10012	\$ 6.40	\$ 160.00	BOARDWALK
	, co	30	Case	Carpet extractor solution (shampoo) (4- 1 gallon /case)	NCL66029	\$ 33.95	\$ 1,018.50	NCL
	φ	40	Each	Caution wet floor sign, yellow, folding	WNCWCS25	\$ 7.48	\$ 299.20	WINCO
	10	50	Each	Chewing gum remover, spray 6oz	BWK353ACT	\$ 3.82	\$ 191.00	BOARDWALK
	=======================================	40	Case	Degreaser cleaner - Green Seal certified (4-1 gallon per box)	NCL403529	\$ 35.13	\$ 1,405.20	NCL
	12	60	Each	Doodlebug pad holder/head	GJO27000	\$ 2.85	\$ 171.00	GENUINE JOE
	3	30	Case	Doodlebug pads (20 pads per case)	BWK402	\$ 21.55	\$ 646.50	BOARDWALK

cosco	\$ 140.70	\$ 4.02	COS091461	Glass scraper refill blades - 100 per box	Box	35	26
воѕттсн	\$ 354.20	\$ 2.53	BOS28500	Glass Scraper - retractable metal	Each	140	25
BOARDWALK	\$ 244.50	\$ 9.78	BWK20218	Garage broom heads - 18" heavy sweep broom	Each	25	24
BOARDWALK	\$ 396.40	\$ 9.91	BWK636	Garage broom handles 60"fiberglass	Each	40	23
WINCO	\$ 17.80	\$ 0.89	WNCPF16	Funnel, Large (pint)	Each	20	22
NCL	\$ 7,062.00	\$ 35.31	NCL403629	Foam hand soap (4-1 gallon per case)	Case	200	21
NCL	\$ 20,825.00	\$ 59.50	NCL105321	Floor stripper - Green Seal certified 5-gallon	5-gal pail	350	20
ETORE	\$ 518.40	\$ 8.64	ETO1636	Floor Squeegees - 22" wide	Each	60	19
ABCO	\$ 82.50	\$ 1.65	ABORM3016S	Floor finish mop heads (12 per case)	Heads/each	50	100
NCL	\$ 43,430.00	\$ 86.86	NCL50821	Floor finish - Green Seal certified (WAX) 5-gallon	5-gal pail	500	17
IMPACT	\$ 1,160.00	\$ 11.60	ІМРТ0013	Dust Pan (Lobby dust pan) Upright	Each	100	16
BOARDWALK	\$ 196.50	\$ 3.93	BWK5308	Dust pan brush	Each	50	ਹੌ
GENUINE JOE	\$ 70 25	\$ 2.81	GJO02406	Dust pan	Each	25	74
Manufacturer	Total Price	Unit Price	MFG. / MODEL #	Description	Est Qty Unit Measure	—	Item No.

	<u> </u>									_		ľ	1
39	38	37	36	35	34	33	32	31	30	29	28	27	Item No.
15	25	70	50	75	60	40	10	20	100	30	100	150	Est Qtv
Case	Case	Each	Each	Each	Each	Вох	Each	Each	Case	Case	Case	Case	Est Qty Unit Measure
Pads, stripping 13" Black (5 pads per case)	Pads, scrubbing 13" Red (5 pads per case)	Mop buckets w/wringer 35 quart with side press wringer	Microfiber extendable duster	48' Long handle razor scraper	Long handled scraper - 12" (floor/window)	Long handled crater refill blades (60 per box)	Lambs wool applicator, 16" W/ BLOCK	Lambs wool aplicator,16" REFILL	Heavy-duty scouring pads 6" x 9" (green) (15 per	Gloves, Nitrile- black or blue MEDIUM	Gloves, Nitrile - black or blue LARGE	Gloves, Nitrile - black or blue X-LARGE	<u>Description</u>
WBM720013WB	WBM510013WB	WNCMP836	OXO1334580	UNGLH12C	UNGSH25C	UNGRB10C*	BWK4418	BWK4518	BWK186	NWLENGAPFM*	NWLENGAPFL*	NWLENGAPFXL*	MFG. / MODEL #
\$ 5.31	\$ 5.31	\$ 60.74	\$ 15.22	\$ 24.36	\$ 22.64	\$ 56.46	\$ 16.68	\$ 11.84	\$ 6.19	\$ 26.40	\$ 26.40	\$ 26.40	Unit Price
\$ 79.65	\$ 132.75	\$ 4,251.80	\$ 761.00	\$ 1,827.00	\$ 1,358.40	\$ 2,258.40	\$ 166.80	\$ 236.80	\$ 619.00	\$ 792.00	\$ 2,640.00	\$ 3,960.00	Total Price
NIAGRA/3M	NIAGRA/3M	WINCO	охо	UNGER	UNGER	UNGER Priced in bid unit of measure, item sold as 10/PK for \$9.41	BOARDWALK - *16" is inactive	BOARDWALK - *16" is inactive	BOARDWALK	WB MASON - *Priced in bid unit of measure, item sold as 100/BX for \$2.64	WB MASON - *Priced in bid unit of measure, item sold as 100/BX for \$2.64	WB MASON - *Priced in bid unit of measure, item sold as 100/8X for \$2.64	Manufacturer

52	51	50	49	48	47	46	45	4	43	42	4.	40	Item No.
				-	,								т.
10	15	110	20	30	10	30	100	30	ω	15	ڻا ن	4	Est Qtv
Case	Case	Case	Case	Case	Case	Case	Case	Case	Case	Case	Case	Case	Unit Measure
Pads, stripping 21" Black (5 pads per case)	Pads, cleaning 20" Blue (5 pads per case)	Pads, stripping 20" Black (5 pads per case)	Pads, polishing 20" White (5 pads per case)	Pads, scrubbing 20" Red (5 pads per case)	Pads, cleaning 19" Blue (5 pads per case)	Pads, polishing 19" White (5 pads per case)	Pads, stripping 19" Black (5 pads per case)	Pads, scrubbing 19" Red (5 pads per case)	Pads, polishing 17" White (5 pads per case)	Pads, stripping 17" Black (5 pads per case)	Pads, scrubbing 17" Red (5 pads per case)	Pads, polishing 13" White (5 pads per case)	Description
BWK4021BLA	WBM530020WB	WBM720020WB	WBM410020WB	WBM510020WB	MMM08412	WBM410019WB	WBM720019WB	WBM510019WB	WBM410017WB	WBM720017WB	WBM510017WB	WBM410013WB	MFG./MODEL#
69	€9	↔	49	€	€9	↔	€	↔	↔	↔	₩	€	<u> </u> ⊆
20.74	11.15	11.15	11.15	11.15	39.47	11.33	11.33	11.33	7.94	7.94	7.94	5.31	Unit Price
\$ 207.40	\$ 167.25	\$ 1,226.50	\$ 223.00	\$ 334.50	\$ 394.70	\$ 339.90	\$ 1,133.00	\$ 339.90	\$ 23.82	\$ 119.10	\$ 39,70	\$ 21.24	Total Price
BOARDWALK	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	3M	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	NIAGRA/3M	Manufacturer

GOJO/PURELL	\$ 1.413.25	56.53	GOJ190502 \$	GOJ1	Sanitizer, Refill, Hand, Foam (1200 mil) (2 per	Case	25	o o
GOJO/PURELL	\$ 986.25	39.45	GOJ192804 \$	GOJ1	Sanitizer, Hand, touch free dispenser, (1200 mil foam soap)	Each	25	64
GOJO/PURELL *Priced in bid unit of measure, item sold as 1200ML, 2/CT for \$33.20 **Purell LTX-7 is Discontinued	\$ 726.25	29.05	GOJ190302* \$	G0J11	Sanitīzer, Refill, Hand, Gel (700mil) (3 per case)	Case	25	63
GOJO/PURELL *Purell LTX-7 is Discontinued	\$ 279.90	27.99	GOJ192804 \$	9011	Sanitizer, Hand,touch free dispenser, electronic (700-mil gel soap)	Each	10	62
IMPACT	\$ 171.50	17.15	IMP1102 \$	IMP	Sanitary napkin wall-mounted receptacle - plastic	Each	10	61
HOSPECO	\$ 406.25	16.25	HOS6141 \$	ноѕ	Saitary napkin wall-mounted receptacle waxed paper liner bags (250 per case)	Case	25	60
RED DEVIL	\$ 576.00	11.52	RDL4109 \$	RDL	Putty knife 3 inch	Each	50	59
RED DEVIL	\$ 753.75	10.05	RDL4105 \$	RDL	Putty knife 2 inch	Each	75	58
SPORTKOTE	\$ 5,172.15	344,81	EIE128SF5GP \$	EIE128	Polyurethane (Waterbase) 5-gallon	5-gal pail	15	57
Priced in bid unit of measure, item sold as 12/CS for \$44.55	\$ 222.75	3.71	NCL2006 \$	NCL	Polish, metal 20oz	Each	60	56
BOARDWALK *Priced in bid unit of measure, item sold as 12/CT for \$44.69	\$ 223,45	3.72	BWK346ACT* \$	8WK3-	Polish, furniture 20oz LEMON (12 per case)	Each	60	55
BOARDWALK	\$ 214.00	4.28	BWK09201EA \$	BWKO	Plunger, sink, small	Each	50	54
NCL	\$ 1,715.50	34.31	NCL94529 \$	NCLS	PH-Enomenal Floor Conditioner/ Neutralizer (4 gal per case)	Case	50	53
Manufacturer	Total Price	Unit Price	/ MODEL #	MFG. /	Description	Unit Measure	Est Qty	Item No.

	Manufacturer	Total Price	Unit Price	MEG / MODEL #	Description
くくく・くしゃ たくり・・ ヒドレ・・・・・					
\$					
(((()))) ((())) ((())) (()) (()) (())					
	CCC+CCS+CCC++CC++TCC++TCC++TCC++TCC++TC				

.......

	136,770.26	tal \$	Grand Total	Award to be made in the aggregate. Bidder must bid all items.				
BOARDWALK	1,861.50	12.41 \$	\$ 12	BWK1001	Unnal screens - scented (12 per case)	Вох	150	76
UNGER	1,775.50	35.51 \$	\$ 35	UNGNN900	Trash Grabber 36" Length	Each	50	75
BOARDWALK	\$ 214.00	4.28 \$	\$	BWK09201EA	Toilet plunger, 18" plastic handle, 5.63 dia (Red/Black)	Each	50	74
RUBBERMAID	651.00	2.17	\$ 2	RCP631000WE	Toilet brush, round bowl brush	Each	300	73
UNGER	295.60	7.39 \$	\$ 7	UNGUS300	Squeegee, Window, 12"	Each	40	72
UNGER	\$ 984.30	32.81 \$	\$ 32	UNGRT30	Squeegee, blade 12"	Each	30	71
IMPACT IMP5032WG sold at \$0.71 TOLCO TOL110246 sold at \$0.63	335.00	1.34	₩	IMP5032WG + TOL110246	Spray bottle 32oz w/trigger	Each	250	70
ВЕТСО	\$ 1,357.00	13.57 \$	\$ 13	BCC9108200	Soap, foam dispenser 30oz	Each	100	69
NCL	\$ 569.10	56.91 \$	\$ 56	NCL050421	Sealer, Terrazo 5-gallon (hardwood flooring)	5-gal pail	10	68
GOJO/PURELL	\$ 2,199.05	62.83 \$	\$	GOJ880503CT	Sanitizer, Refill, Hand, Foam (ADX12) (3 per case)HOLD	Case	35	67
GOJO/PURELL		22.90 \$	\$ 22	GOJ882806	Sanitizer, Hand, ADX12 Dispenser, (1200 mil foam)HOLD	Each		66
Manufacturer	Total Price	100	Unit Price	MFG. / MODEL #	<u>Description</u>	Est Qty Unit Measure	Н	item No.

Hillyard, Inc.

Item No.	Est Qty	Unit Measure	Description	MFG . / MODEL #	Unit Price	Total Price
1	100	Case	Aerosol Baseboard Stripper - 20 oz (12 per case)	Hillyard# HIL0113355 12/case	\$ 53.98	\$5,398.00
2	125	Each	Angle Brooms	Rubbermaid# RUB638906BK	\$ 9.49	\$1,186.25
3	40	Each	Barrels - 44 gal (without dolly)	Hospeco #IMP77443 4/CS MUST BUY FULL CASE	\$173.56/cs	\$1,735.60 for 10 cases
4	40	Each	Barrels with Dollies - 44 gallon	Hospeco #IMP77443 (4/CS) /7704 Dollies 2/CS MUST BUY FULL CASES of Barrels & Dollies	\$322.20/cs for 10 barrels & 4 dollies	\$3,222.00 for 40 barrels & 40 dollies
5	50	Each	Basket, Wastepaper, Plastic 40 Qt	Hospeco #IMP77035	\$ 10.65	\$532.50
6	50	Each	Basket, Wastepaper, Plastic 28 Qt	Rubbermaid #RUB2956GY 12/CS MUST BUY FULL CASES	85.02/cs	\$340.08 for 4 cases
7	25	Each	Broom, interior/com	Casrlisle #CSM4135200	\$ 12.34	\$308.50
8	30	Case	Carpet extractor solution (shampoo) (4- 1 gallon /case)	Hillyard #HIL0091406 4gal/case	\$ 81.88	\$2,456.40
9	40	Each	Caution wet floor sign, yellow, folding	Rubbermaid #RUB611277YW	\$ 11.02	\$440.80
10	50	Each	Chewing gum remover, spray 6oz	Hillyard #HIL0103055 12/cs MUST BUY FULL CASE	\$57.88/cs	\$231.52 for 4 cases
11	40	Case	Degreaser cleaner - Green Seal certified (4-1 gallon per box)	Hillyard #HIL0096606 4gal/cs	\$ 45.92	\$1,836.80
12	60	Each	Doodlebug pad holder/head	Hillyard #HIL29961	\$ 12.26	\$735.60
13	30	Case	Doodlebug pads (20 pads per case)	Hillyard #HIL29960 5/pk x4pk/cs	\$ 20.07	\$602.10
14	25	Each	Dust pan	Rubbermaid #RUB2005CH	\$ 3.80	\$95.00
15	50	Each	Dust pan brush	Rubbermaid #RUB6342SV 6/cs MUT BUY FULL CASE	\$32.21/cs	\$257.68 for 8 cases
16	100	Each	Dust Pan (Lobby dust pan) Upright	Rubbermaid #RUB2531BK	\$ 15.24	\$1,524.00
17	500	5-gal pail	Floor finish - Green Seal certified (WAX) 5-gallon	Hillyard #HIL0055107 EP22 5 gal BIB	\$ 82.82	* \$41,410.00
18	50	Heads/each	Floor finish mop heads (12 per case)	Hillyard #HIL24009 5" HB Looped End	\$ 14.29	\$714.50
19	60	Each	Floor Squeegees - 22" wide	Rubbermaid #RUB9C27BK 10/CS MUST BUY FULL CASES	\$80.86/cs	\$485.16 for 6 cases
20	350	5-gal pail	Floor stripper - Green Seal certified 5-gallon	Hillyard #HIL0096407 Green Select Stripper 5 gal BIB	\$ 72.80	\$25,480.00
21	200	Case	Foam hand soap (4-1 gallon per case)	Hillyard #HIL0039306 Caribbean Foam Soap 4gal/cs	\$ 46.96	\$9,392.00
22	20	Each	Funnel, Large (pint)	Tolco #240113	\$ 3.93	\$78.60
23	40	Each	Garage broom handles 60"fiberglass	Carlisle #CSM40225EC03	\$ 12.87	\$514.80
24	25	Each	Garage broom heads - 18" heavy sweep broom	Carlisle #CSM4188000	\$ 17.55	\$ 438.75
25	140	Each	Glass Scraper - retractable metal	Unger #UNGSR500	\$ 4.10	\$574.00
26	35	Вох	Glass scraper refill blades - 100 per box	Unger #UNGSRB30	\$ 23.78	\$832.30
27	150	Case	Gloves, Nitrile - black or blue X-LARGE	Hillyard #HIL30413	\$ 57.22	\$8,583.00
28	100	Case	Gloves, Nitrile - black or blue LARGE	Hillyard #HIL30412	\$ 57.22	\$5,722.00

Item No.	Est Qty	Unit Measure	Description	MFG . / MODEL#	Unit Price	Total Price
29	30	Case	Gloves, Nitrile- black or blue MEDIUM	Hillyard #HIL30411	\$ 57.22	\$1,716,60
30	100	Case	Heavy-duty scouring pads 6" x 9" (green) (15 per cs)	Hillyard #HIL28940 *10/pk 6pk/cs	\$30.90/cs	\$3,090.00 for 100 case
31	20	Each	Lambs wool aplicator , 16" REFILL	Hillyard #HIL50116	\$ 13.03	\$260.60
32	10	Each	Lambs wool applicator, 16" W/ BLOCK	Hillyard #HIL50016	\$ 43.19	\$431.90
33	40	Вох	Long handled crater refill blades (60 per box)	Unger #UNGRB10C 10/pk	\$ 11.08	\$443.20
34	60	Each	Long handled scraper - 12" (floor/window)	Unger #UNGSH25C *10/cs MUST BUY FULL CASES	\$251.42/cs	\$1508.52 for 6 cases
35	75	Each	48' Long handle razor scraper	Unger #UNGLH12C	\$ 29.90	\$2,242.50
36	50	Each	Microfiber extendable duster	Hillyard #HIL20040 34"-51" extendable	\$ 12.94	\$647.00
37	70	Each	Mop buckets w/wringer 35 quart with side press wringer	Rubbermaïd #RUB758088YW	\$ 99,31	\$6,951.70
38	25	Case	Pads, scrubbing 13" Red (5 pads per case)	Hillyard #HIL42213 5/cs	\$ 12,35	\$308.75
39	15	Case	Pads, stripping 13" Black (5 pads per case)	Hillyard #HIL42713 5/cs	\$ 12.35	\$185.25
40	4	Case	Pads, polishing 13" White (5 pads per case)	Hillyard #HIL42013 5/cs	\$ 12,35	\$49.40
41	5	Case	Pads, scrubbing 17" Red (5 pads per case)	Hillyard #HIL42217 5/cs	\$ 18.08	\$90.40
42	15	Case	Pads, stripping 17" Black (5 pads per case)	Hillyard #HIL42717 5/cs	\$ 18.08	\$271.20
43	3	Case	Pads, polishing 17" White (5 pads per case)	Hillyard #HIL42017 5/cs	\$ 18,08	\$54.24
44	30	Case	Pads, scrubbing 19" Red (5 pads per case)	Hillyard #HIL42219	\$ 21:71	\$651.30
45	100	Case	Pads, stripping 19" Black (5 pads per case)	Hillyard #HIL42719	\$ 21.71	\$2,171.00
46	30	Case	Pads, polishing 19" White (5 pads per case)	Hillyard #HIL42019	\$ 21.71	\$651.30
47	10	Case	Pads, cleaning 19" Blue (5 pads per case)	Hillyard #HIL42319	\$ 21.71	\$217.10
48	30	Case	Pads, scrubbing 20" Red (5 pads per case)	Hillyard #HIL42220 5/cs	\$ 23.53	\$705,90
49	20	Case	Pads, polishing 20" White (5 pads per case)	Hillyard #HIL42020	\$ 23.53	\$470.60
50	110	Case	Pads, stripping 20" Black (5 pads per case)	Hillyard #HIL42720 5/cs	\$ 23.53	\$2,588.30
51	15	Case	Pads, cleaning 20" Blue (5 pads per case)	Hillyard #HIL42320 5/cs	\$ 23.53	\$352.95
52	10	Case	Pads, stripping 21" Black (5 pads per case)	Hillyard #HIL42721	\$ 27.43	\$274.30
53	50	Case	PH-Enomenal Floor Conditioner/ Neutralizer (4 gal per case)	Hillyard #HIL0021906 4 gal/cs	\$ 44.72	\$2,236.00
54	50	Each	Plunger, sink, small	Hospeco #IMP9200	\$ 536	\$268.00
55	60	Each	Polish, fumiture 20oz LEMON (12 per case)	Hillyard #HIL0105255 12/cs	\$ 48.98	\$2,938,80
56	60	Each	Polish, metal 20oz	Hillyard #HIL0113455 12/cs	\$ 56.63	\$3,397.80
57	15	5-gal pail	Polyurethane (Waterbase) 5-gallon	Hillyard #HIL0027572 5gal pail Diamond 1K	\$ 349.39	\$5,240.85

Item No.	Est Qty	Unit Measure	Description	MFG . / MODEL#	Unit Price	Total Price
58	75	Each	Putty knife 2 inch	Hospeco #IMP3201	\$ 4.00	\$300.00
59	50	Each	Putty knife 3 inch	Hospeco #IMP3401	\$ 7.36	\$368.00
60	25	Case	Sanitary napkin wall-mounted receptacle waxed paper liner bags (250 per case)	Hospeco #HOS6141	\$ 26.73	\$668.25
61	10	Each	Sanitary napkin wall-mounted receptacle - plastic	Rubbermaid #RUB6140WH	\$ 53.16	\$531.60
62	10	Each	Sanitizer, Hand,touch free dispenser, electronic (700-mil gel soap)	Hillyard #HIL22411	\$ 13.00	\$130.00
63	25	Case	Sanitizer, Refill, Hand, Gel (700mil) (3 per case)	Hillyard #HIL0040203 Affinity IHS Gel 4x1000ml/cs	\$ 57.82	\$1,445.50
64	25	Each	Sanitizer, Hand, touch free dispenser, (1200 mil foam soap)	Hillyard #HIL22411	\$ 13.00	\$325.00
65	25	Case	Sanitizer, Refill, Hand, Foam (1200 mil) (2 per case)	Hillyard #HIL0041003 Affinity Foam Sanitizer 4x1000ml/cs	\$ 77.73	\$1,943.25
66	25	Each	Sanitizer, Hand, ADX12 Dispenser, (1200 mil foam)HOLD	4x1000ml/cs Hillyard #HIL22304 No Charge if awarded Hillyard #HIL0041003	No charge if awarded bid item# 65 or #67	No charge if awarded bid item# 65 or #67
67	35	Case	Sanitizer, Refill, Hand, Foam (ADX12) (3 per case)HOLD	Hillyard #HIL0041003 Affinity Foam Sanitizer 4x1000ml/cs	\$ 77.73	\$2,720.55
68	10	5-gal pail	Sealer, Terrazo 5-gallon (hardwood flooring)	Hillyard #HIL0034407	\$ 65.51	\$655.10
69	100	Each	Soap, foam dispenser 30oz	Hillyard #HIL22297 Bulk Foam Soap Dispenser 1000ml	\$ 13.00	\$1,300.00
70	250	Each	Spray bottle 32oz w/trigger	Hospeco #IMP5032WG/HIL26011	\$ 2.47	\$617.50
71	30	Each	Squeegee, blade 12"	Unger #UNGRT300 12/cs MUTS BUY FULL CASE	\$38.69/cs	\$116.07 for 3 cases
72	40	Each	Squeegee, Window, 12"	Unger #UNGNE300	\$ 9.65	\$386.00
73	300	Each	Toilet brush, round bowl brush	Rubbermaid #RUB6310WH	\$ 2.12	\$636.00
74	50	Each	Toilet plunger, 18" plastic handle, 5.63 dia (Red/Black)	Hospeco #IMP9200	\$ 5.36	\$268.00
75	50	Each	Trash Grabber 36" Length	Unger #UNGNN900	\$ 41.96	\$2,098.00
76	150	Вох	Urinal screens - scented (12 per case)	Hillyard #HIL15031 12/box	\$ 11.86	\$1,779.00
				Award to be made in the aggregate. Bidder must bid all items.	Grand Total	\$171,831.22 for items bid



					_	
Item No.	Est Qty	Unit Measure	<u>Description</u>	MFG . / MODEL #	Unit Price	Total Price
1	100	Case	Aerosol Baseboard Stripper - 20 oz (12 per case)	2620-6110	40.17	\$4,017.00
2	125	Each	Angle Brooms	2679-3481	5.81	\$726.25
3	40	Each	Barrels - 44 gal (without dolly)	2655-3178	39.84	\$1,593.60
4	40	Each	Barrels with Dollies - 44 gallon	2655-3178 & 1606-8076	71.72	\$2,868.80
5	50	Each	Basket, Wastepaper, Plastic 40 Qt	1609-1961	11.31	\$565.50
6	50	Each	Basket, Wastepaper, Plastic 28 Qt	2607-0971	7.22	\$361.00
7	25	Each	Broom, interior/corn	1647-8467	9.02	\$225.50
8	30	Case	Carpet extractor solution (shampoo) (4- 1 gallon /case)	1675-2812	46.44	\$1,393.20
9	40	Each	Caution wet floor sign, yellow, folding	1610-8755	8.27	\$330.80
10	50	Each	Chewing gum remover, spray 6oz	2622-6112	26.88	\$1,344.00
11	40	Case	Degreaser cleaner - Green Seal certified (4-1 gallon per box)	1642-0008	30.96	\$1,238.40
12	60	Each	Doodlebug pad holder/head	1694-8440	4.78	\$286.80
13	30	Case	Doodlebug pads (20 pads per case)	2660-0736	15.00	\$450.00
14	25	Each	Dust pan	1694-8566	2.63	\$65.75
15	50	Each	Dust pan brush	57237	4.42	\$221.00
16	100	Each	Dust Pan (Lobby dust pan) Upright	2658-3474	9.42	\$942.00
17	500	5-gal pail	Floor finish - Green Seal certified (WAX) 5-gallon	2673-3384	117.17	\$58,585.00
18	50	Heads/each	Floor finish mop heads (12 per case)	2648-1059	4.75	\$237.50
19	60	Each	Floor Squeegees - 22° wide	1626-7763	12.78	\$766.80
20	350	5-gal pail	Floor stripper - Green Seal certified 5-gallon	2697-3180	105.47	\$36,914.50
21	200	Case	Foam hand soap (4-1 gallon per case)	2676-3387	46.48	\$9,296.00
22	20	Each	Funnel, Large (pint)	1647-2235	2.01	\$40.20
23	40	Each	Garage broom handles 60"fiberglass	2628-3984	7.79	\$311.60
24	25	Each	Garage broom heads - 18* heavy sweep broom	2657-3384	9.59	\$239.75
25	140	Each	Glass Scraper - retractable metal	1622-7605	2.75	\$385.00
26	35	Вох	Glass scraper refill blades - 100 per box	1614-6096	1.93	\$67.55
27	150	Case	Gloves, Nitrile - black or blue X-LARGE	2695-3897	44.00	\$6,600.00
28	100	Case	Gloves, Nitrile - black or blue LARGE	2694-3896	44.00	\$4,400.00
29	30	Case	Gloves, Nitrile- black or blue MED!UM	2697-3899	44.00	\$1,320.00

Item No.	Est Qty	Unit Measure	Description	MFG . / MODEL#	Unit Price	<u>Total Price</u>
30	100	Case	Heavy-duty scouring pads 6" x 9" (green) (15 per cs)	2670-3482	8.15	\$815.00
31	20	Each	Lambs wool aplicator , 16" REFILL	2627-3882	7.57	\$151.40
32	10	Each	Lambs wool applicator, 16" W/ BLOCK	2640-3992	12.26	\$122.60
33	40	Вох	Long handled crater refill blades (60 per box)	75510	8.43	\$337.20
34	60	Each	Long handled scraper - 12" (floor/window)	75509	19.98	\$1,198.80
35	75	Each	48' Long handle razor scraper	75511	23.75	\$1,781.25
36	50	Each	Microfiber extendable duster	2694-2969	10.14	\$507.00
37	70	Each	Mop buckets w/wringer 35 quart with side press wringer	2619-1155	62.66	\$4,386.20
38	25	Case	Pads, scrubbing 13" Red (5 pads per case)	1666-8550	8.75	\$218.75
39	15	Case	Pads, stripping 13* Black (5 pads per case)	1651-8250	8.75	\$131.25
40	4	Case	Pads, polishing 13" White (5 pads per case)	2668-0532	8.75	\$35.00
41	5	Case	Pads, scrubbing 17" Red (5 pads per case)	2672-0654	12.85	\$64.25
42	15	Case	Pads, stripping 17" Black (5 pads per case)	2660-0635	12.85	\$192.75
43	3	Case	Pads, polishing 17° White (5 pads per case)	2662-0637	12.85	\$38.55
44	30	Case	Pads, scrubbing 19" Red (5 pads per case)	1661-8656	15.45	\$463.50
45	100	Case	Pads, stripping 19" Black (5 pads per case)	1656-8255	15.45	\$1,545.00
46	30	Case	Pads, polishing 19" White (5 pads per case)	1652-8857	15.45	\$463.50
47	10	Case	Pads, cleaning 19" Blue (5 pads per case)	2634-1154	15.11	\$151.10
48	30	Case	Pads, scrubbing 20" Red (5 pads per case)	1662-8657	16.65	\$499.50
49	20	Case	Pads, polishing 20* White (5 pads per case)	2666-0631	16.65	\$333.00
50	110	Case	Pads, stripping 20" Black (5 pads per case)	2670-0258	16.65	\$1,831.50
51	15	Case	Pads, cleaning 20" Blue (5 pads per case)	1647-6982	16.65	\$249.75
52	10	Case	Pads, stripping 21" Black (5 pads per case)	1657-8256	19.45	\$194.50
53	50	Case	PH-Enomenal Floor Conditioner/ Neutralizer (4 gal per case)	1607-8154	28.48	\$1,424.00
54	50	Each	Plunger, sink, small	2676-5279	10.65	\$532.50
55	60	Each	Polish, furniture 20oz LEMON (12 per case)	2620-6312	3.38	\$202.80
56	60	Each	Polish, metal 20oz	2624-6215	3.32	\$199.20
57	15	5-gal pail	Polyurethane (Waterbase) 5-gallon	1619-8347	320.38	\$4,805.70
58	75	Each	Putty knife 2 inch	1639-6196	1.50	\$112.50

item No.	Est Qty	Unit Measure	Description	MFG . / MODEL#	Unit Price	Total Price
59	50	Each	Putty knife 3 inch	1634-6494	1.54	\$77.00
60	25	Case	Saitary napkin wall-mounted receptacle waxed paper liner bags (250 per case)	1657-8484	16.10	\$402.50
61	10	Each	Sanitary napkin wall-mounted receptacle - plastic	1681-8243	19.13	\$191.30
62	10	Each	Sanitizer, Hand,touch free dispenser, electronic (700-mil gel soap)	43390	0.00	\$0.00
63	25	Case	Sanitizer, Refill, Hand, Gel (700mil) (3 per case)	51926	28.80	\$720.00
64	25	Each	Sanitizer, Hand, touch free dispenser, (1200 mil foam soap)	43387	0.00	\$0.00
65	25	Case	Sanitizer, Refill, Hand, Foam (1200 mil) (2 per case)	52197	18.45	\$461.25
66	25	Each	Sanitizer, Hand, ADX12 Dispenser, (1200 mil foam)HOLD	43387	0.00	\$0.00
67	35	Case	Sanitizer, Refill, Hand, Foam (ADX12) (3 per case)HOLD	52197	18.45	\$645.75
68	10	5-gal pail	Sealer, Terrazo 5-gallon (hardwood flooring)	2685-3491	81.44	\$814.40
69	100	Each	Soap, foam dispenser 30oz	2601-2233	41.03	\$4,103.00
70	250	Each	Spray bottle 32oz w/trigger	2649-2797 & 2633-3183	1.54	\$385.00
71	30	Each	Squeegee, blade 12"	1694-5305	7.67	\$230.10
72	40	Each	Squeegee, Window, 12"	1647-6424	19.12	\$764.80
73	300	Each	Toilet brush, round bowl brush	2684-3589	1.98	\$594.00
74	50	Each	Toilet plunger, 18" plastic handle, 5.63 dia (Red/Black)	2675-1394	5.08	\$254.00
75	50	Each	Trash Grabber 36" Length	1610-8894	30.07	\$1,503.50
76	150	Вох	Urinal screens - scented (12 per case)	2602-2917	16.94	\$2,541.00
				Award to be made in the aggregate. Bidder must bid all items.	Grand Total	\$172,469.15